
IN
F 3110/4110 - 2004 

IN
F 5110 - 2010 

5/10/10 1 

Oppgave 6.5 



IN
F 3110/4110 - 2004 

IN
F 5110 - 2010 

5/10/10 2 

Oppgave 6.7 



IN
F 3110/4110 - 2004 

IN
F 5110 - 2010 

5/10/10 3 

Oppgave 6.13 a  1) 



IN
F 3110/4110 - 2004 

IN
F 5110 - 2010 

5/10/10 4 

Oppgave 6.13 a  2) 



IN
F 3110/4110 - 2004 

IN
F 5110 - 2010 

5/10/10 5 

Oppgave 6.13  b) 



IN
F 3110/4110 - 2004 

IN
F 5110 - 2010 

5/10/10 6 

Oppgave 6.13 c 



IN
F 3110/4110 - 2004 

IN
F 5110 - 2010 

5/10/10 7 

Grammar Rule Semantic Rule 

class → class name { decls } decls.enclosingClassName = name.name 

decls1 → decls2 ; decl  decls2.enclosingClassName =  
   decls1.enclosingClassName 
decl.enclosingClassName =  
   decls1.enclosingClassName 

decls → decl decl.enclosingClassName =  
   decls.enclosingClassName 

decl → variable-decl 

decl → method-decl method-decl.enclosingClassName =  
   decl.enclosingClassName 

method-decl →  
 type name ( params ) body 

if (name.name =  
  method-decl.enclosingClassName) 
then if (not(type.type = void))then 
error(“constructor not of type void”) 
eller 
if (name.name =  
    method-decl.enclosingClassName) 
    and (not(type.type = void))then 
error(“constructor not of type void”) 

type → int type.type = int 

type → bool type.type = bool 

type → void type.type = void 


